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Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year — (2018-19)

Name of Applicant: - a"g""’) W
Father’s Name: A’Y\,\N\ )M ‘ O

............

Branch (to be opted):- €3

Note:- _Attempt all Questions. Each question is of 1 mark.

v;?:e amplitude of a complex number is /2 then the number is

purely imaginary ~ (b) purelyreal  (c) 0  (d) neither real nor imaginary
2 What is the value of factorial Zero (b*.)

@) 10 (6)0 g1 (@ -1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always

come together?
biéfgio (b) 1440 (c)2880 (d) 50400

4 LetR={(3,1),(2,4),4.2),3,2),(1,3)} be arelation on the set A= { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (9)46' symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sin A+4 cosB=6and4sinB +3 cosA= 1. Then the measure of the angl
is

30° (b)150° (c) 60° (d) 75°
6. The number of values of x in the interval [0, 3n] satisfying the equation 2sin’x + Ssinx — 3 01is
4 (b)6 (o)1 (d)2
7. The line y=mx+c ntersects the circle x2 +y2 =qg“ at the most of points.
(a) 1 v@€4 ©3 (d14

8 The line 5x—2y+4k=0isatangentto4x2—y2=36thenkis B
(a) 4/9 (b)2/3 \}pafﬁﬁ (d) 81/16 .ﬁég;/”gb ‘

9. The center of the circle 4x2+4y2-8x+12y-25=0 is ? QO o0 } * // \
QL2 B)13/2) (©3/21) (W32 N o

de ‘
10. The line passing through the points (3, lﬁzd))« b, 1) crosses the yz—plane at the ]%g)m‘ﬁu o8 éﬁa\k i
(

2 N
@a=2,b=8  (ba=4,b=6 (Qa=6b=4 ()a=8,b=2 9; s
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O“r_-*‘:‘.

|.4(\‘.'1

TN
Vo



11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency avelength, focal length  (d) force, acceleration

»

12. Average distance of the Sun from the Earth -
(a) light year astronomical unit  (c) fermi (d) parsec g

s

13.The number of significant figures in the number 0.0028 ils,

(y){ ®3  (©4 (d)5

14. Which of the following is not the unit of time

(a)second  (b)minute  (c) month @)’léht year~

15.1f x = a + bt + ct’, where x is in metre and t in second, then what is the unit of ‘c’?

(a) m/s \9»452 (©) kem/s (d) m¥s

16.The base quantity among the following is,
(a) Speed  (b)area (cyength (d) wei@ﬁt
17. Dimensional analysis can be applied to
(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.
\
(c) to convert a physical quantity from one system of units to other. \/@)ﬁ of the above
18.Which of the following physical quantity has the dimensional formula [M'L2T?]
(a) work \Qaéwer (c) work (d) impl.lksg?,
19.The dimensions of universal gravitational constant is

Jé{['M‘lﬁT'z] (b) M'L'T?) ) ML (d) M'L'TY)
20.Which of the following is dimensionless
(a) force/acceleration
(b) velocity/acceleration

(¢) volume/area
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21.Scale may be formed inside the boiler due to decomposition of:

__ay Ca(HCOy),

b) MgCO,
¢) MgCly -

d) CaCl,

22. The chemical formula of zeolite is .

a) FeS04.7H,0
b) Al2(SO4)3.18 H;0

' Nazo.Alzo:q.xSiOz.szO N
d) NazA1203

23.Which bond has the highest bond energy

02 \)162+2 C) 022— Rz

d) 0%

24.When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor

\/K)/n:type serniconductor

c¢) Insulator d) Intrinsic semiconductor

25.A pi-bond is formed by sideway overlapping of

.

&

i
a) s-s orbitals \/b{l’yp orbitals '
-

c) s-p orbitals
26. Temporary hardness of water can be removed by
a) Boiling

b) Filtration

\})é:rcening -

. W
d) Sedimentation ) Go\\e'
; \?:\‘C\g A
27. Suspension of milk is At N Lg
)
bl

O

d) s-p-s orbitals ~\cS
) s-p ade'mg
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" a) CaCl, ./b‘@(OH)z ¢) NaCl d) MgCl,

‘ 28. Which of the following is not a Polyamide h
a) Leather \/b}’@’tural rubber c) Wool- d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is

\/z){ithium tetrachloride and triphenyl aluminium f
b) Titanium tetrachloride and trimethyl aluminium | |

¢) Titanium oxide

d) Titanium isoperoxide

30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

\j)’értiary alcohol N d) An aldehyde



Pushplata Scholaréhip Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year — (2018-19)
Name of Applicant: - ..£7/r2anshi (29 raak
Father’s Name: - .. S 2uave.cn.. k. Aganval

Branch (to be opted):- .. £°.S

Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is
_{(a')fpurely imaginary  (b) purely real~—(c) 0  (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b)0 ‘\dg)/l (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

e(})"Eflo (b) 1440 (c) 2880 (d) 50400,
4 LetR={(3,1),(2,4),(4.2).3,2),(1,3)} be arelation on the set A= { 4.3,2,1 }. The relation R is

' (a) a function (b) transitive (¢) not symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sinA+4 cosB=6and4sinB + 3 cos A = 1. Then the measure of the angl
is -

(a)30° (b) 150° (c) 60° (d)75° ° .
6. The number of values of x in the interval [0, 3x] satisfying the equation 2sin’x + Ssinx -3=0is
(4 (b) 6 (c)1 (d)2 '

7. The line y=mx+c intersects the circle x? +y2 =a? at the most of points.

(a) 1 M2 @3 (@4

-

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* — y*= 36 then k is ‘ Y.

: o & i

(a)4/9 (b)2/3 éc),9/4 (d) 81/16 L8t ) g

P e ! A -
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10. The line passing through the points (5, 1, 2) and (3, b, 1) crosses the yz—plane at th%@qﬁé\?‘(\fﬁﬁﬁ'”& 1
(@a=2,b=8  (ba=4b=6 (&=6b=4 (da=8b=2 P g
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency \@)Vavelength, focal length  (d) force, acceleration

12. Average distance of the Sun from the Earth
(a) light year Wtronomical unit  (c) fermi (d) parsec
13.The number of significant figures in the number 0.0028 is,
y/z/ ®3 ©4 (@5 ol
14.Which of the following is not the unit of time
(a) second  (b) minute (c) month (d/) light year
15.If x = a + bt + ct’, where x is in metre and t in second, then what is the unit of ‘c’?
(a) m/s Wsz (c)kgm/s  (d)m*/s
16.The base quantity among the following is,
(a) Speed  (b) area C_(9 ) Jength  (d) weight
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

M convert a physical quantity from one system of ?nits to other: (d) All of the above
18.Which of the following physical quantity has the dimensional formula M'L?T?)
lQ/V»"ork (b)'power (c) work (d) impulse
19.The dimensions of universal gravitational constant is
y{M“ﬁT’z] (b) M'L'T?) © M'L* T () M'L'T!
20.Which of the following is dimensionless S
(a) force/acceleration
(b) velocity/acceleration

(c) volume/area
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“(d) energy/w(_%
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21.Scale may be formed inside the boiler due to decomposition of:

/a)/c’a(Hcogz
b) MgCO; Y
c) MgCl,
d) CaCl;,
22. The chemical formula of zeolite is
a) FeS04.7H,0
b) Al2(S04)3.18 HO A
NazO.AbO;.xSiO;.szO
d) Na2A1203
23.Which bond has the highest bond energy
02 b) 03 ) Ok d)

24.When silicon (Si) is doped with phosphorous (P) we get
a) p-type semiconductor
c¢) Insulator

25.A pi-bond is formed by sideway overlapping of
a) s-s orbitals

c) s-p orbitals

o0r

\/b}/{type semiconductor

d) Intrinsic semiconductor

Mp orbitals

y
d) s-p-s orbitals

: \'S?)‘ GO\:'\‘ \; -

\
o
a) Boiling o® “et®

b) Filtration

ygcreening

d) Sedimentation

27. Suspension of milk is




" a) CaClz %(OH)Z ¢) NaCl d) MgCl,
28. Which of the following is not a Polyamide
a) Leather Pb)’ﬁ;ural rubber WP ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
MMM tetrachloride and trimethyl aluminium
¢) Titanium oxide v
d) Titanium isoperoxide
30. When CHj; Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

c¢) Tértiary alcohol d) An aldehyde
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Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year —(2018-19)

Name of Applicant: - ..AZerTH VV“\y’{“k +‘&¢‘;l‘
Father’s Name: - .Qaclfﬁ.sl’\ 7‘}? ) (

Branch (to be opted):- .. 55

Note:- Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

a) purely imaginary  (b) purely real  (c).0- - td) neither real nor imaginary
2 What is the value of factorial Zero (0!)

() 10 ()0 ATT d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always

come together?
M (b) 1440  (c) 2880 (d) 50400

4 LetR={(3,1),(2,4),(4,2),(3,29,(1,3)} be arelation on the set A= { 4,3,2,1 }. The relation R is

* * (a) a function (b) transitiv not symmetric (d) reflexive. |

5. In triangle ABC, we are given that 3 sinA+4 cosB=6and4sinB+3 cosA= 1. Then the measure of the angl
is

30° (b) 150° (c) 60° (d) 75° . ' '
6. The ber of values of x in the interval [0, 3] satisfying the equation 2sin"x + 5sinx -3 =0is
\J@Yﬂ)‘m (b) 6 ()1 @2 . ~
7. The line y=mx+c intersects the circle x? +y2 =a? at the most of points.

(a) I \@,2/‘ (c)3 (A4 i
8 The line 5x — 2y + 4k = 0 is a tangent to 4x> — y*= 36 then k is
(a) 4/9 (b)2/3 \(9,9{4 d) 81/16 o~
9. The center of the circle 4x2+4y?-8x+12y-25=01is ? /°

L.

(a) (1,2) (b)(-1,3/2) (cH3/2,1) (d) (1,-3/2)° y © 7
10. The line passing through the points (5, 1, a) and (3¢ b, 1) crosses the yz—plane at the point ( (l1 Iemﬁ\b‘" B :
(a)a=2,b=8 (b)a=4,b=6  (c)a=6,b=4 (ha=8b=2 Dean_M:ﬂ Colles®
) : ?J“% ; = ‘al\"\ba
" 0 R ais O
Director

R.D. Engineering College
Duhai, Ghaziabad




11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency avelength, focal length  (d) force, acceleration

12. Average distance of the Sun from the Earth

(a) light year Monomical unit (c) fermi (d) parsec

13.The number of significant figures in the number 0.0028 is,
w7 03 @4 @5 N

14. Which of the following is not the unit of time

(a)second  (b)minute  (c) month \@«r@n year~

15Ifx=a+bt+ ctz, where x is in metre and t in second, then what is the unit of ‘c’?

(a) m/s Msz (c) kgm/s (d) m?/s

16.The base quantity among the following is,

(a) Speed (b) area \(pzie{gth (d) weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation. ~ (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. m of the above
18.Which of the_, following physical quantity has the dimensional formula [MILZT'B]
(a) work Mer (c) work (d) impulse
19.The dimensions of universal gravitational constant is
_@MUTY ML @MIUT] (@ ML

20.Which of the following is dimensionless

\Ja%rc‘e/ acceleration

(b) velocity/acceleration

p

(¢) volume/area
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(d) energy/work

21.Scale may be formed inside the boiler due to decomposition of:

a) Ca(HCOs)

d) CaCl,

22. The chemical formula of zeolite is
a) FeS04.7H,0

\/;)}12(804)3. 18 H,O
: Na;O.AbO;.xSiOz.szO -

)

o

d) NEQA]:O;;

23.Which bond has the highest bond energy

02 B %

L

) 0% d) 0%

24.When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor

¢) Insulator

25.A pi-bond is formed by sideway overlapping of

~,
s

\))/netype semiconductor

d) Intrinsic semiconductor

a) s-s orbitals

c) s-p orbitals \

26. Temporary hardness of water can be removsgﬂf

a) Boiling

b) Filtration

\))/St;reening

d) Sedimentation

27. Suspension of milk is

DIt
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". a) CaCly \)ﬁ:‘a(OH)z . ¢) NaCl d) MgCl,

| 28. Which of the following is not a Polyamide |
a) Leather Wml rubber ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium

ﬁtanium tetrachloride and trimethyl aluminium
¢) Titanium oxide
d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

\/c)/ﬂ:rtiary alcohol . d) An aldehyde



Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year — (2018-19) "
Name of Applicant: - N\%L\\“ %\’\Qk“ W § f %
Father’s Name: - .... X2\ %\?{,\/\ \‘Qk\"ﬂ\bf\ |
Branch (to be opted):- ...... s

Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

Jﬁ&"ﬁurely imaginary  (b) purely real  (c) 0  (d) neither real nor imaginary
2 What is the value of factorial Zero (()T)

(a) 10 (b)0 _n (-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(2810 (b) 1440 (c) 2880  (d) 50400

4LetR={(3,1)(24)(42)(32)(1,3)}bea relation on the set A = { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (c)fiot symmetric (d) reflexive-
5. In triangle ABC, we are given that 3 sin A + 4 cos B =6 and 4 sin B + 3 cos A = 1. Then the measure of the angl

is .

L2)30° (b) 150° (c) 60° (d)75° ™= . - . _
6. The number of values of x in the interval [0, 3] satisfying the equation 2sin"x + Ssinx —‘3. =01is
&\«4 (b) 6 (1 @2 '

7. The line y=mx+c intersects the circle x? +y2 —a? at the most of points.

(@1 B2 (©3 (@4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* —y*=36 then k is
(@4/9 ()23 ()94 (d) 81/16

9. The center of the circle 452 +4y2—8x+12y-25=0 is ? o E(\g\ - ‘\

@12 (6)(L3/2) (@ (3/21) (drL-3/2) - T

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane anQ; \point (0. l:“\‘\rr' \'_‘ i ‘
@s=2b=8  Ga4p=6  ©a=6bmd @aTRI2 aleCly

n L q\0F
) 0 E-\\%\. Cl‘“"[
( rk- : '\‘L\\"
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency W@Iength, focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth

(a) light year Métronomical unit  (c) fermi  (d) parsec

13.The number of significant figures ir: the number 0.0028 is,

@2 ®3 ©4 @5

14.Which of the following is not the unit of time

.\

(a) second  (b) minute (c) month  (d)light year
. G
15.1f x = a + bt + ct?, where x is in metre and t in second, then what is the unit of ‘c’?

(a) m/s wa (c)kgm/s (d)m’s _

16.The base quantity among the following is,

(a) Speed (b) area yngth (d) weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(¢) to convert a physical quantity from one system of units to other: ‘@/All of the above
18.Which of the following physical quantity has the dimensional formula M'LT?)
(a) work }bj’ power (c) work (d) impulse

19.The dimensions of universal gravitational constant is

(@M'LT? (b)) [M'L'T?) ©) ML T? () M'L'T]
O

20.Which of the following is dimensionless

(a) force/acceleration

(b) velocity/acceleration

(¢) volume/area



.

| - {d) energy/work _

L/ i

21.Scale may be formed inside the boiler due to decomposition of:

yCéi(HCOQz
b) MgCO;
c) MgCly
d) CaCl,
22. The chemical formula of zeolite is
a) FCSO4.7H20
b) Al2(SO4)3.18 H,O
Na;0.A1,05.xSi0,.yH,0
d) Na;Al,O3
23.Which bond has the highest bond energy
02 by0," A»eaz‘ d) 0

24 When silicon (Si) is doped with phosphorous (P) we get

M-We semiconductor

¢) Insulator d) Intrinsic semiconductor

a) p-tvne semiconductor

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals ‘/b)/p-p orbitals

c) s-p orbitals d) s- -\ tbita
ey

26. Temporary hardness of water can be removed by %g._(_);\‘:‘_'u P

_y ©
a) Boiling

b) Filtration
yScreening y
d) Sedimentation

27. Suspension of milk is

0@
s~ t'}t‘b\_é
A\ }N‘

2
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"7 a) c_écu r/1;)-13":11(0H)2 ¢)NaCl d) MgCl,

28. Which of the followihg is not a Polyamide

a) Leather Lj))"I\_Ta'rural rubber " ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is

a) Lithium tetrachloride and triphenyl aluminium

b) Titanium tetrachloride and trimethyl aluminium

¢) Titanium oxide ' ¢

, _/d/)/ Titanium isoperoxide

30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get

\—i)Primary alcohol b) Secondary alcohol

c¢) Tertiary alcohol d) An aldehyde
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Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs

Admission Year — (2018-19).

Name of Applicant: ?Q?@d ..60 A
| €1 I
Father’s Name: - Subha&: Go‘// ;o
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

(aypurely imaginary  (b) purely real .(c) 0~ (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

~

(a) 10 (b) 0 %) : (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

810 (b) 1440 (c)2880 (d) 50400 .
4LetR={(3,1)(2,4),(42),(3,2)(13)} bearelation on the set A= { 4,3,2,1 }. The relation R is

(a) a function (b) transitive\(¢ynot symmetric (d) reflexive.
5. In triangle ABC, we are given that 3 sin A +4 cos B = G.and 4 sin B + 3 cos A = 1. Then the measure of the angls
is

30° (b) 150° (c) 60° (d) 75° -

\ylﬁ number of values of x in the interval [0, 3x] satisfying the equation 2sin’x + Ssinx - 3=0is
(a) 4 ‘

(b) 6 ()1 )2 ~

7. The line y=mx-+c intersects the circle x? +y2 —a? at the most of points.

(@)1 \/@2/ ©3 (@4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* - y* =36 then k is
@49 (b)2/3 W d) 81/16

et Wt . et
N coN
9. The center of the circle 42 +4y2—8x+12y—25=0 is ? ?\e'%/\’\ )
(a)(1,2) (b)(-1,3/2) ()(-3/21) (dV(1-3/2) “ -

10. The line passing through the points (5, 1. a) and (3, b, 1) crosses the yz—plane at the point (0. 1772
(a)a=2,b=28 (bya=4,b=6 (cyd=6,b=4 (d)a=8,b=2
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency Mvele_ngth, focal length  (d) force, acceleration

i

12. Average distance of the Sun from the Earth
(a) light year Jb}ﬁs/tronomical unit  (c) fermi "(d) parsec
13.The number of significant figures in the number 0.0028 is,

M ®)3  (©4 (5

14.Which of the following is not the unit of time

(a) second  (b) minute (c) month (,(id(ght year

15.If x = a + bt + ct?, where x is in metre and t in second, then what is the unit of ‘c’?
(a) m/s WZ (c) kgm/s (d) m¥s ¢ 'l

16.The base quantity among the following is,

(a) Speed  (b) area ength (@)”Qeight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation. (b Mo derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. ~ (d) All of the above
18.Which of the following physical quantity has the dimensional formula M'L2T?)
(a) work power (c) work (d) impulse Pt
19.The dimensions of universal gravitational constant is
WLSTQ] (b) M'L'T?] © IM'L’T?] (d) [M'L'T]
20.Which of the following is dimensionless
(a) force/acceleration
velocity/acceleration

(c) volume/area -~



"+ (d) energy/work

21.Scale may be formed inside the boiler due to decomposition of:

\)‘)/C?a(ﬂcos )

b) MgCO3
¢) MgCl,
d) CaCl,

22. The chemical formula of zeolite is
a) FESOq.?HzO
b) Al2(S04);.18 HO
) azO.AlgO3.xSi02.yH20
d) Na2A1203 o
0
23.Which bond has the highest bond energy

02 70, 00+ @) oF

\
o~

24 When silicon (Si) is doped with phosphorous (P) we get

a) p-tvne semiconductor ) n-type semiconductor

c¢) Insulator d) Intrinsic semiconductor
\“ -

25.A pi-bond is formed by sideway overlapping of A p

: L'y
<

a) s-s orbitals A\ /bigé orbitals 0\)“ :
‘ b B U~ =
O\:‘ ) (\(\Q é\c\‘“ R

c) s-p orbitals ; " ¥ 5-p-sorbitals NG CoM

%(\ X\= ] D\:ﬁ 0‘\\\5:\3" AL %
™ 26. Temporary hardness of water can be rem@xg G WD C,,?:r{ " g\y" ,
a) Boiling

b) Filtration

" il
\/e)éreenin e C‘,\};ff >/
g D\ eC\O A,—:’\\ﬁge .

ni'\-.a d
4 . ne pe
d) Sedimentation R'DD%?‘%‘ Ghazw

27. Suspension of milk is




" a) CaCl, }Véa(OH)z ¢) NaCl d) MgCl,
- 28. Which of the following is not a Polyamidg o
a) Leather by Natural rubber - ¢) Wool d) Nylons66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
L/I?ﬁ"i{;éinium tetrachloride and trimethyl aluminium
¢) Titanium oxide it
d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol - b) Secondary alcohol

/)/Teniary dlcohol W d) An aldehyde
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Note:- Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is
(},}/ﬁurcly imaginary  (b)purelyreal (c)0  (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b) 0 4 /(9}'1 (d) -1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(2) 810 (b) 1440 (c) 2880 - (d) 50400

41etR=1{(3,1),(2,4),(42)(3.2) ,('1,3)} be a relation on the set A= { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (c) not symmetnc (d) reflexive.

5. In triangle ABC, we are given that 3 sin A+ 4 cos B=6and 4 sin B + 3 cos A = 1. Then the measure of the angl
is \

() 30° (b) 150° —(c) 60° (d) 75° . 0
6. The number of values of x in the interval [0, 3x] satisfying the equatlon 2sin’*x & Ssipx=8 =0 is
Ad) 4 (b)6 (1 (d)2 ¥ : T
2 i-'\‘\ - ’\Q\ \ . A\ \\_. 3
7. The line y=mx+c intersects the circle x2 +yz =q“ att '\J'no,s\@ points. é"a{'" Py
fﬂﬂ () 2 (©3 (A4 2O BS 3@} ?\05(\-.3&3 20°
. %\ "\:2} a'?"\\ \({C}' \\SLZ‘
8 The line 5x — 2y + 4k =0 is a tangent to 4x* —-yxﬁ%@ nkis QQ}&:\\
Y b
@49 ()23 ()94 (d) 81/16 Ll Q¥

9. The center of the circle 452 +4y2-8x+12y-25=0 is?
@12 6 132) (0321 @L3/2)

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 172
(a)a=2,b=8 (bya=4,b=6 (ya=6,b=4 (d)a=8,b=2




11.The pair of quantities having the same dimensions is
(a) Displacement, velocity  (b) time, frequency _(/c%jWavelengﬂl, focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth
(a) light year _(b)astronomical unit (c)fermi (d) parsec
13.The number of significant figures in the number 0.0028 is,
@2 M3 ©4 D5 .
14.Which of the following is not the unit of time
(a) second  (b) minute (c)month (d)light year -
150fx=a+bt+ ctz, where x is in metre and t in second, then what is the unit of ‘c’?
@m/s bYm/s’ (c)kgm/s (d)m’/s
16.The base quantity among the following is,
(a) Speed (b) area L(Q,le’ngth (d) weight
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to O.t_t’l_ﬁl'. k@Allv of the above
18.Which of the following physical quantity has the dimensional formula [M'L2T?
(a) work ;@power (c) work (dQ‘?Tpulse
19.The dimension'; of universal gravitational constant is
_@{M'IL3T'2] (b) [M'L'T?] () ML T?] (@) [MlL'lTil}-
20.Which of the following is dimensionless
(a) force/acceleration

(b) velocity/acceleration

(¢) volume/area



- (d) energy/work
e o

21.Scale may be formed inside the boiler due to decomposition of:

a) Ca(HCO;),

b) MgCO;

c) MgCl, %

d) CaCl,

22. The chemical formula of zeolite is

a) FeS0,.7H,0

b) Al2(SO4);.18 H,0O
/C}”Nazo.AhO}XSiOz.szO

d) N32A1203
™

23.Which bond has the highest bond energy
02 _by0," c) 0% d) o

24.When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor L@ _n<type semiconductor
c¢) Insulator d) Intrinsicsemiconductor

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals _DYpp orbitals 2 \;
A ¢ A
c) s-p orbitals d) s-p-s € tals\(\ // 1 o \ﬁé
\'30 b&"i\\ C_.“\' A
/™  26. Temporary hardness of water can be removed by Y&‘b S,
z‘b“'\ . Q‘:*Q?\{Jlb\
a) Boiling Ve
Vo
RN
b) Filtration
ﬂ’Scrccning ' e
o L/
Q;\} N

d) Sedimentation Director

R.D. Engineering College
27. Suspension of milk is Duhai, Ghaziabad



*. a) CaCl, _b)€a(OH), ¢) NaCl d) MgCl,

28. Which of the following is not a Polyamide

a) Leather l/b}Natural rubber 2 c) Wbol d) Nylon-66

29. The catalyst used in the manufacture of polyethene by Ziegler method is

a) Lithium tetrachloride and triphenyl aluminium

yitaniurn tetrachloride and trimethyl alyminium

¢) Titanium oxide

d) Tit;'cmium isoperoxide

30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get
a) Primary alcohol b) Secondary alcohol

c) Tertiary alcohol d) An aldehyde
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1 If the amplitude of a complex number is @2 then the number is

‘_(,a)/purely imaginary  (b) purely real -~ (¢) 0 (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b)0 Loyl (d-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

da)y'810 (b) 1440 (c) 2880 (d) 50400
4 LetR={(3,1)(2,4),(42),3,2),(1,3)} be arelationon the set A={4,3,2,1 }. The relation R is

(a) a function (b) transitive ‘(anot symmetric (d) reflexive.
5. In triangle ABC, we are given that 3 sin A + 4 cos B = 6 and 4 sin B + 3 cos A= 1. Then the measure of the angl
is
(ay30° (b) 150° (c) 60° ~_ ~(d)75°
- The number of values of x in the interval [0, 3x] satisfying the equation 2sin’x + 5sinx — 3 =0 is
’(9)/4 (b) 6 (©)1 (d)2 ’
7. The line y=mx+c intersects the circle 2 +y2 =a? at the most of points.

(@1 m2 @3 @4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x2 —y*=36thenk is 2 60\\3(_5&
(@) 4/9 (b)2/3 (cy9/4 (d) 8116~ S 3
o Lia0?
9. The center of the circle 4x2+4y2-8x+12y-25=0 is ? ).?« G
(-‘.

(a)(12) (b)(-13/2) (0 (3/21) (@3/2)

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 17
(a)a=2,b=8 (bya=4,b=6 €)a=6,b=4 (d)a=8b=2
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency @)Uavelength, focal length  (d) forée, acceleration
12. Average distance of the Sun from the Earth

(a) light year (p«astronomical unit  (c) fermj‘w- (d) parsec

13.The number of significant figures in the number 0.0028 is,
@2 ®3 (4 (@@D5

14.Which of the following is not the unit of time

(a) second  (b) minute (c) month }d)fiigh_t year

15Ifx=a+bt+ ctz, where x is in metre and t in second, then what is the unit of ‘c’?
(a) m/s (pm/s2 () kgm/s (d)m¥s

16.The base quantity among the following is,

(a) Speed  (b) area chgth (d) weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. /(133’A11 of the above
18.Which of the following physical quantity has the dimensional formula M'LT?)

(a) Qork @)/ﬁower (c) work (d) impulse

19.The dimensions of universal gravitational constant is

(@M'L’T?] () M'L'T?] () [MIL2T? (@) M'L'TY

20.Which of the following is dimensionless

(a) force/acceleration

(b) velocity/acceleration

(¢c) volume/area



o

o

" (d) energy/wor

-

21.Scale may be formed inside the boiler due to decomposition of:

/a\/(,‘a(Hcogz

b) MgCOg
¢) MgCly
d) CaCl,
22. The chemical formula of zeolite is
a) FeS0,4.7H,0
b) Al2(SO4);.18 H,0 ,
' Nazo.A1203.XSi02.yH20 = O
d) Na,Al,04
23.Which bond has the highest bond energy

02 by0," ¢) 0,F d) 0*
24 When silicon (Si) is doped with phosphorous (P) we get
a) p-type semiconductor _b) n-type semiconductgg

¢) Insulator d) Intrinsic semicéﬁauctor

25.A pi-bond is formed by sideway overlapping of

P
a) s-s orbitals -p orbitals “/;,.r"
B pi”
c) s-p orbitals Qrblffﬂs .
\Qa e e e
26 Temporary hardness of water can be removed by < = G %‘&, £
o 5 oo™ o
e P ot
a) Boiling ¢oe, O
Q-o '0\)\\"}
yﬁltraﬁon
7
c) Screening . ~
! ~ ‘;/
d) Sedimentation

Dlrec

llege
: — R.D. Engmeerlﬂg Co
27. Suspension of milk is Duhai, Ghaziabad




. a) CaCl, _b)Ca(OH), ¢)NaCl d) MgCl
. |

28. Which of the following is not a Polyamide
a) Leather })Natmal rubber ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is

a) Lithium tetrachloride and triphenyl aluminium

/b)’Titanium tetrachloride and trimethyl aluminium

N
¢) Titanium oxide

d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get
a) Primary alcohol b) Secondary alcohol

¢) Tertiary alcohol O d) An aldehyde

7
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1 If the amplitude of a complex number is /2 then the number is
[(a)purely imaginary  (b) purely real  (c) 0 (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)
(a) 10 (b) 0 RO () -1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(@810 (b) 1440 (c)2880  (d) 50400
4LetR={(3,1),2,4)(4,2),3,2),(1,3)} be arelation on the set A = {4,3,2,1 }. The relation R is

(a) a function (b) transitive (c) not symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sinA+4 cosB = 6 and 4 sin B + 3 cos A = 1. Then the measure of the angls
is 4

(a) 30° (b) 150° () 60° (d) 75° L, . ‘
6. The number of values of x in the interval [0, 3n] satisfying the equation 2sin"x + 5sinx — 3= (}h\s
~(a)4 (b) 6 (©)1 @2 -~ . :
7. The line y=mx+c intersects the circle x2 +y2 =a2_, at the most of points. - _f;/ "
@1 ®)2  (©3 (@1 & \\\}/ ¥
’ W& : e™ oY,
8 The line 5x — 2y + 4k = 0 is a tangent to 4x* — y%=36 then kei§® C° '?”G%Qi{\“%\—’ 2
N 2 WA )
(@49 (0)2/3 (c)9/4 (d) 81/16 ' ?‘*_\\, geé‘;\e;\v@ N
<o >
9. The center of the circle 4x2+4y2-8x+12y-25=0is ? _ . O ‘%9'9\3\‘

(a)(12) (b)(-1,3/2) (Q(3/22) (d) (1-3/2)

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 177 fn

(@a=2b=8  (b)a=4b=6  (9a=6b=4 (Haz8b=2
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency \(_c)/\ﬁla\':!flgngth; focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth

(a) light year (b) astronomical unit  (c) fermi \(’d')"rparsec

13.The number of significant figures in the number 0.0028 is,
@2 ®3 ©4 @5

14.Which of the following is not the unit of time

(a) second  (b) minute (c) month @}light year

15.If x = a + bt + ct?, where x is in metre and t in second, then what is the unit of ‘¢’?
(a)m/s (b)m/s’ (c)kgm/s (d)m’/s |

16.The base quantity among the following is,

(a) Speed  (b) area (Q),le{gth (d)weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship betwéen different physical
quantities.

N~

(c) to convert a physical quantity from one system of units to other. (dYAll of the above
18.Which of the following physical quantity has the dimensional formula [MILZT':"]

(a) work 7 (}g)/pf)wer (c) work (d) impylse ~ &

19.The dimensions of universal gravitational constant is
W"ﬁ’r‘z] (b) [M'L'T?) ) ML’ T (d) M'L'T]

20.Which of the following is dimensionless.

(a) force/acceleration

(b) velocity/acceleration

(¢) volume/area



*~ o (@ ‘f;}rg?/work

21.Scale may be formed inside the boiler due to decomposition of:

3),xCa(HCO;)2

b) MgCOs

c) MgClz

d) CaCl,

22. The chemical formula of zeolite is

a) FeS04.7H,0

b) Al2(SO4);.18 H,0
)Na,0.A1,03.xSi0,.yH,0

d) Na,Al,0;

23.Which bond has the highest bond energy
02 ) 0," 6) O = d) 0¥

24.When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor _ b)Y n-type semiconductor
¢) Insulator d) Intrinsic semiconductor

25.A pi-bond is formed by sideway overlapping of

- . !
a) s-s orbitals b) p-p orbitals Vo |
c) s-p orbitals d) s-p-s orbitals "
-0 P Pk
@™  26. Temporary hardness of water can be removed by~ poo- o " d ‘\.\;-
X \{j \ J« .\). eta“ P\ ‘\\.‘% \‘,c\
s Y. 20 DY 00 a1
a) Boiling oW 0 o, G
O (’ &) Q \Y, 'Q\}\p\'&\“
b) Filtration o )
~¢)  Screening

d) Sedimentation

27. Suspension of milk is



", a) CaCl;;_ @ ‘Ca(OH), ¢) NaGl d) MgCl,
28. Which of the following is not a Polyamide
a) Leather b) Natural rubber c) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
_b) Titanium tetrachloride and trimethyl-aluminium
¢) Titanium oxide
d) Titanium isoperoxide
30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get
a) Primary alcohol b) Secondary alcohol

T

c) Tertiary alcohol d) An aldehyde
b/



